BXrO—JDE N

JIE 152 K £ By >7 ouT IN GROSS | HDCP NET
= B H EH 22¢club/\EF 45 46 91 21.6 69.4
24 WE R 22clubli ik 45 41 86 13.2 72.8
E 3L FI KT 22clubf K 49 42 91 18.0 73.0
B4 AK BF 22clubfR FE 49 48 97 24.0 73.0
E5hL M= 22club B 5A 45 44 89 14.4 74.6
E6{I KE & 22clubf K 48 47 95 20.4 74.6
£7 B/E HWYF 22clubf K 45 43 88 13.2 74.8
E84iI KFxFE AB 22clubtiiE 45 47 92 16.8 75.2
FE L TR KRR 22clubfR EE 49 43 92 16.8 75.2
E£104L BH mitF 22club 52 48 43 91 15.6 75.4
F114 = BX 22club B 5A 45 44 89 13.2 75.8
1241 ol Al 22¢lubfE R )II 49 45 94 18.0 76.0
%1341 =¥E K3 22clubt K 57 54 111 34.8 76.2
F14461 g = 22club/\EF 47 51 98 21.6 76.4
%154 BH MBEF 22clubfTiR 45 45 90 13.2 76.8
E164L mil EiF 22club/\ EF 48 48 96 19.2 76.8
17462 Y F— 22clubtéiE 53 43 96 19.2 76.8
$£184I oE F¥E 22club A 50 45 95 18.0 77.0
F194 HH E2= 22clubZE L) 45 49 94 16.8 77.2
E 2041 WH RF 22club B2 53 46 99 21.6 774
211 it Eid 22clubf K 49 56 105 27.6 77.4
E2241 &l =F 22club B2 54 51 105 27.6 77.4
F23{u %k BR 22¢club/\ EF 49 48 97 19.2 77.8
E2441 EA RRE 22club B 3A 42 42 84 6.0 78.0
FE25 ST 22¢club/\ EF 45 45 90 12.0 78.0
E 2641 BEH FF 22clubfriR 50 47 97 18.0 79.0
F27 ING BEF 22¢club/\ EF 52 51 103 24.0 79.0
E2841 BiE i 22club B2 47 47 94 14.4 79.6
F2041 N B 22¢club/\ EF 54 54 108 27.6 80.4
3011 RiR E— 22clubl ik 47 50 97 15.6 81.4
E314 He 4hF 22clubZE L) 59 56 115 33.6 81.4
E3241 TR %t 22club$R FE 56 54 110 27.6 82.4
%3341 —fgE 42 22club B 5A 58 52 110 27.6 82.4
$£3441 =@ BEF 22club B A 53 56 109 26.4 82.6
$E351I Bk = 22clubtéiE 61 49 110 26.4 83.6
E 364 ATE i 22club/\EF 52 58 110 26.4 83.6
E374L 0 FF 22club B 5A 58 60 118 33.6 84.4
$E381I KiZE BB 22club A 56 51 107 21.6 85.4
$394I BBl =H Mk 22clubf K 59 61 120 33.6 86.4
%4041 BM UK HEX 22¢club/\EF 52 58 110 22.8 87.2
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